Subject: readf,1,format=......
Posted by woopik on Sat, 08 Dec 2007 21:18:17 GMT
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hi

i have a question
i have in a txt file some data
48883 149.55579541 12.44483936

when i read a entire line

line="

readf,1,line

print,line

i get a good output

48883 149.55579541 12.44483936

but when i read data like this
ttab = MAKE_ARRAY(nlines,3,/DOUBLE)

FMTp='(15,2X,D13.8,2X,D13.8)'

for i=1,nlines do begin
READF,1,FORMAT=FMT,I1,12,13
ttab[i-1,0]=11 & ttab[i-1,1]=12 & ttab[i-1,2]=I3
endfor

and i print them

print, FORMAT=FMTp,ttab[0,0], ttab[0,1],ttab[0,2]

i get

48883 149.55580139 12.44483948

and this is not the same it should be

48883 149.55579541 12.44483936

why ?
iuseidl 6.16.2
Wojtek

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6195
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=25878&goto=57392#msg_57392
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=57392
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

